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4- 10 1% of the tires manufactured at a particular plant are defective, find tiie
probability that in a sample of 20 tires (using two methods and check using tables)
a. Exactly 1 is defective
b. More tha.n 2 are delective

¢. The minimum defective mumber that gives a probability of 90% (15 puints)

5- A customer selected two independent random samples A and B from different cement
companies with the following summary information. Is the means are equal (o0 = 0.95) ?

- e Model A Model 8
~ Sample Size - 8 9
*Sample Mean 920 84

Sample Standard Deviation "3 5

(10 poiniz)

Best regards

D, Moharram Fouad



